1 вариант
Реши уравнение:             У х 6 = 144 х 3
Сделай вычисления в столбик:
           362 х 2                                 663 : 3
           134 х 3                                 424 : 2
           165 х 5                                 198 : 9
           304 х 3                                 336 : 8
           278 х 4                                 365 : 5




2 вариант
Реши уравнение:            Х : 7 = 144  : 6
Сделай вычисления в столбик:
[bookmark: _GoBack]           175 х 5                                 196 : 6
           314 х 3                                 444 : 3
           308 х 2                                 742 : 2
           169 х 4                                 344 : 8
           485 х 2                                 384 : 3

